CTNA- AUTONUM    An Atwood's machine is a pulley with two masses connected by a string as shown.  The mass of object A, mA , is twice the mass of object B, mB.    The tension T in the string on the left, above mass A, is...
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A)  T = mA g

B)  T = mB g

C) Neither of these.

CTNA- AUTONUM  \* Arabic   

Given the following two equations, 

A + B = C

D + E =  F

which of the following two equations are correct?

I.  A+B+D+E = C + F  

II. A+B+F = C+D+E

A) Both are correct

B) Neither are correct

CTNA- AUTONUM   A mass m is pulled along a frictionless table by  constant force external force Fext at some angle above the horizontal.  The magnitudes of the forces on the free-body diagram have not been drawn carefully, but the directions of the forces are correct.   
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Which  statement below must be true?

A)   
N < mg
B) 
N > mg 
C)  
N=mg

CTNA- AUTONUM   A mass m is accelerates downward along a frictionless inclined plane. The magnitudes of the forces on the free-body diagram have not been drawn carefully, but the directions of the forces are correct.   
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Which  statement below must be true?

A)   
N < mg 
B) 
N > mg 
C)  
N = mg

A student chooses a tilted coordinate system as shown, and then proceeds to write down Newton's 2nd Law in the form 
[image: image38.wmf].  What is the correct equation for the y-direction 
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A) 
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CTNA- AUTONUM  \* Arabic  A car of mass m, traveling at constant speed, rides over the top of a hill.  
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The magnitude of the normal force N of the road on the car is..

A) greater than the weight of the car, N > mg.

B) equal to the weight, N = mg.

C) less than the weight, N < mg.
CTNA- AUTONUM  \* Arabic    A rider in a "barrel of fun" finds herself stuck with her back to the wall.  Which diagram correctly shows the forces acting on her?
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CTNA- AUTONUM  \* Arabic [image: image30.wmf]  A bucket containing a brick is swung in a circle at constant speed in a vertical plane as shown.  The bucket is swung fast enough that the brick does not fall out.

The net force on the brick as it is swung has maximum magnitude at position.

A) Top.


B)  Bottom.

C)  Right

D)  The net force has the same magnitude at all positions.

Consider the normal force exerted on the brick by the bucket when the bucket is at the three positions shown: R, T, B.  The magnitude of the normal force is a minimum at position...

A) Top.
B) Bottom.
C) Right (Wrong)
D)  The normal force has the same magnitude at all positions.

CTNA- AUTONUM  \* Arabic   Consider the following two situations:
Situation I: A car on Earth rides over the top of a round hill, with radius of curvature = 100 m,  at constant speed v = 35 mph.

Situation II: A monorail car in intergalactic space (no gravity) moves along a round monorail, with radius of curvature = 100 m,  at constant speed v = 35 mph.

Which car experiences larger acceleration?
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A) Earth car

B) Space car

C) Both cars have the same acceleration.

CTNA- AUTONUM   

A mass m is pulled along a rough table at constant velocity with an external force Fext at some angle above the horizontal.  The magnitudes of the forces on the free-body diagram have not been drawn carefully, but the directions 

of the forces are correct.   
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Which  statement below must be true?

A)   
FEXT  >  FFRIC ,    N  >  mg.

B) 
FEXT  <  FFRIC ,    N  <  mg.

C)  
FEXT  >  FFRIC ,    N  <  mg.

D)   
FEXT  <  FFRIC ,    N  >  mg.

E) 
None of these.

What is the correct y-equation (given the choice of axes shown) ?
A) 
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B) 
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CTNA- AUTONUM    A mass m is pulled along a frictionless table with a constant external force Fext at some angle above the horizontal.  The magnitudes of the forces on the free-body diagram have not been drawn carefully, but the directions of the forces are correct.   
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The magnitude of the net force on the block is 

A) 
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E)   None of these.

What is the correct y-equation (given the choice of axes shown) ?
A) 
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B) 
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C) 
[image: image22.wmf]ext

NmgFsin0

+-+q=


D) 
[image: image23.wmf]ext

NmgFcos0

+-+q=


CTNA- AUTONUM    A mass slides down a rough inclined plane with some non-zero acceleration with magnitude a1.  The same mass is shoved up the same incline with a large, brief initial push.  As the mass moves up the incline, its acceleration has magnitude a2.  How do a1 and a2 compare?


[image: image24.wmf]v

 

a

1

 

v

 

a

2

 


A)  a1 > a2

B)  a1 = a2

C)  a1 < a2
CTNA- AUTONUM  
A block of mass m on a rough table is pulled by a string as shown. The string exerts a horizontal force of magnitude FT .  The coefficient of static friction between block and table is S; the kinetic friction coefficient is K.  As always, S > K .
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True (A) or False (B))  

If the –block does not move, it must be true that the force of friction is Ffric = s N .

True (A) or False (B))  

If the block does not move, it must be true that the string tension 

FT ( s N .

True (A) or False (B))  

If FT > K N , the block must be accelerating.

True (A) or False (B))  

If FT > K N , the block might be accelerating.

True (A) or False (B))  

If FT > s N , the block must be accelerating.

CTNA- AUTONUM  \* Arabic   A car rounds a banked curve at some speed without skidding.   The radius of curvature of the curve is R.  A possible free-body diagram (which may or may not be correct) is shown.


[image: image26]
What can you say about Ffric, the magnitude of the force of friction?

A) Ffric = SN

B) Ffric = KN

C) Neither.

What can you say about the direction of Ffric?

A) It is in the direction shown in the free-body diagram.

B) It is in the direction opposite shown in the diagram.

C) The direction depends on the speed of the car.
Exam 1 was …
A) harder than I expected.
B) easier than I expected.
C) about what I expected.
This semester for phys1110, I

A) purchased the recommended text only (or got a text from somewhere).

B) purchased the video lectures only

C) purchased both the text and video lectures

D) purchased neither.
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